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SET G Consumer goods
/AGR agriculture (000 tons)
MAN manufacture (000 tons)
SER services (000 dollars) / ;
Ao gt Yot (S sl olels e i 2 ol 5Sa ol el Al @
Sl Ve Lal o 7 ol g R 5, 1Y) (5 /) L)

&l 80 e ail b

iy SETS 51 SET 31 plaskial sasly aenst 0 ST iy ol GAMS s @
v Yo st JS0s Sz ol fab g W L3 3y Lo s0my
380) &;\bﬁ;ﬁdi%@\ng\u,;\\uu(,)M\wui
JCL
SET

S Sectors /a, b, c/
R Regions /R1,R2/;

(SUbSEY) 258l e sdl iy Ak GAMS s il lopun I LY @
JU d \s
SETS

ab(s) /ab/,
c(s) /cl;



21 5ol 55 I Rimpandl le sl s GAMS 3 olssed! u,,;\& s o
AL Rpmpl Rl 515 3 oy b0y (g3 0l 6 elasl Aot o g
U3 ST

SET RS(RS  /RlaRLb RLc, R2a R2b,R2.C/;
K o L 8

SET RS(R,S) /R1l.(a, b,¢),R2(a b,0)/;
PSP

SET RS(RS) /(RLR2).(ab,0)/;

3 WSALIAS dlasll GAMS pusis 1ol i o5 3oy A5z o 1STolsY @
JEL
ALIAS (SSS);
S oy STyall kgl 3 polidl fukl Jo JuTt5 SS p sasr et a5 g
A7l 3 Aol Al B 20 0Ly Adles ‘3\}{“ Asgedloin [ slg) ol
.CGE



ol sbly SELIN Y] (7)

PARAMETER 3 (1)
35Uy GAMS (3 bl Rgis oy 58 Do PARAMETER [ 31 s @
BN 3
PARAMETER Y(R) Regiona Income
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RHO Discount rate/ 0.05/,
IRR Internal Rate of Return,
DEP Depreciation Rate/ 0.07 / ;
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TABLE Output (R,S) Sectoral output by region
a b c

R1 10 40 50
R2 25 100 75;
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PARAMETER TOTR (R) Total regional outpuit;
TOTR (R) = SUM (S, Output (R, S)) ;
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Output = PROD (I, input (1)** share (1)) ;
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PARAMETER

Minout (R)  minimum sectoral output
Maxout (R)  maximum sectoral output;
Minout (R) = SMIN (S, output (R, S));
Maxout (R) = SMAX (S, output (R, S));
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K (T) Capital stock
C(T) Consumption



I (T) Investment
Utility Utility measure;
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PARAMETER ABSORB (T) Total Absorption;
ABSORB (T)=C.L (T) +I.L (T);
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EQUATIONS
Cost Total cost equation
Q(T) Production function;
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	SET	G		Consumer goods
	/AGR		agriculture (000 tons)
	MAN		manufacture (000 tons)
	SER 			services (000 dollars) / ;
	SET
	S 		Sectors   / a, b, c /
	R 		Regions  / R1, R2 / ;
	SETS
	ab (s)	   / a, b / ,
	c(s)		   / c / ;
	PARAMETER	Y(R) 	Regional  Income
	/ R1 	100,
	R2 	200/ ;
	PARAMETER	Y(R) 	Regional  Income;
	Y(“ R1”)= 100;
	Y(“ R2”)= 200;
	SCALARS
	RHO 	Discount rate / 0.05 / ,
	IRR 	Internal Rate of Return ,
	DEP	Depreciation Rate / 0.07 / ;
	IRR = 0.10 ;
	TABLE 	 Output (R, S) 	    Sectoral output by region
	R1       10		40		50

	SCALAR	X 	/ 1.5 / ;
	X = 1.2 ;
	X = (X + 2) / 3 ;
	
	K (T)	Capital stock
	I (T)		Investment
	Cost 	Total cost equation
	Q (T)	Production function;
	Q (T) ..	Output (T) = E = PROD (I, Input (I, T)** SHARE (I));


	MODEL    TRANSPORT     A   transportation model  / ALL / ;

